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HS=MEFEZ(INIL/5)RE £5/14(h) L FEHKET

B | BH | AR | EESR s B E METE | BRREVE
109 | 2 301 02 EOiE B =F 60.0 45.0
109 | 2 301 02 EOE BX=TF 57.0 38.0
109 | 2 301 02 EOiE HE-T 71.0 45.0
109 | 2 301 02 EO&E g EER 43.0 29.0
109 | 2 301 02 O BESLEHRT 50.0 28.0
109 | 2 301 02 EO&E FEEEF 28.0 16.0
109 | 2 301 02 EOE ET45E 30.0 18.0
109 | 2 301 02 EO%E FXHR=F 30.0 22.0
109 | 2 301 02 O ZEE SR E 50.0 27.0
109 | 2 301 02 EO&E MEEE=TF 13.0 8.0
109 | 2 301 02 EOE £mEBE 8.0 5.0
109 | 2 301 02 EO&E ZEEEAANLET 15.0 9.0
109 | 2 301 02 O EBE=TF 28.0 16.0
109 | 2 301 03 EBOX ExX=TF 60.0 35.0
109 | 2 301 03 EBOX =X =F 57.0 19.0
109 | 2 301 03 EBOX HE=TF 71.0 16.0
109 | 2 301 03 EBOX g EAR 43.0 14.0
109 | 2 301 03 EBOX BFEEEF 28.0 8.0
109 | 2 301 03 EBOX BEBTEE 30.0 8.0
109 | 2 301 03 EBOX EH=T 30.0 7.0
109 | 2 301 03 EBOX ZEEEHE] 50.0 11.0
109 | 2 301 03 EBOX G 8.0 2.0
109 | 2 301 03 EBOX BEEANLET 15.0 5.0
109 | 2 301 03 EBOX EE=T 28.0 9.0
109 | 2 301 05 JTOR B ="F 60.0 18.0
109 | 2 301 05 STOR BEX=TF 57.0 12.0
109 | 2 301 05 JTOR FESEEMH 50.0 11.0
109 | 2 301 05 JTOR EEAG=] 8.0 2.0
109 | 2 301 05 JTOR BEEEAANET 15.0 3.0
109 | 2 301 12 MOZK B =F 60.0 15.0
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1092285 =EEEJNEN1/5)RE E5/14(Rh) L E# et

109 | 2 301 14 Y NOP/r B> ="F 60.0 40.0
109 | 2 301 14 MOZ= =N =F 57.0 31.0
109 | 2 301 14 Y NOP/r HE=-F 71.0 33.0
109 | 2 301 14 HO% g AR 43.0 24.0
109 | 2 301 14 MHOZ FESEM T 50.0 18.0
109 | 2 301 14 Y NOP/n BREERF 28.0 14.0
109 | 2 301 14 NOP/r EilT45E 30.0 16.0
109 | 2 301 14 Y NOP/n XHR="F 30.0 20.0
109 | 2 301 14 NOP/r ZEEERE 50.0 21.0
109 | 2 301 14 Y NOP/n MEEE=-F 13.0 5.0
109 | 2 301 14 NOP/r EELES ] 8.0 4.0
109 | 2 301 14 NOP/n BEEEAANLET 15.0 8.0
109 | 2 301 14 NOF/r RE=T 28.0 16.0
109 | 2 301 15 e}z Y =& 60.0 13.0
109 | 2 301 23 Lo EX=TF 60.0 21.0
109 | 2 301 23 ZOox g EAR 43.0 14.0
109 | 2 301 23 Lo MEEE=T 13.0 4.0
109 | 2 301 26 (0] B ="F 60.0 19.0
109 | 2 301 26 =0f% BEX=TF 57.0 20.0
109 | 2 301 26 =O01% HE-F 71.0 17.0
109 | 2 301 26 =01F g AR 43.0 10.0
109 | 2 301 26 =01E EEE S 28.0 8.0
109 | 2 301 26 =0fE BT4SE 30.0 6.0
109 | 2 301 26 =01E XBR="F 30.0 14.0
109 | 2 301 26 =0fE MEEE=T 13.0 3.0
109 | 2 301 26 =01E EBE=T 28.0 8.0
109 | 2 301 31 ek s BEx=TF 60.0 12.0
109 | 2 301 39 S0 B ="F 60.0 24.0
109 | 2 301 39 =[O BEX=TF 57.0 18.0
109 | 2 301 39 S0 HE-F 71.0 18.0
109 | 2 301 39 =[O =gy E 43.0 14.0
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HS=MEFEZ(INIL/5)RE £5/14(h) L FEHKET

109 | 2 301 39 E[eS] EH=T 30.0 10.0
109 | 2 301 41 5015 B =T 60.0 30.0
109 | 2 301 41 5018 HN=F 57.0 32.0
109 | 2 301 41 S0 HE=T 71.0 43.0
109 | 2 301 41 5018 g EER 43.0 26.0
109 | 2 301 41 S0 BESLEHRT 50.0 27.0
109 | 2 301 41 501% FEEEF 28.0 18.0
109 | 2 301 41 S04 ET45E 30.0 18.0
109 | 2 301 41 501% FXHR=F 30.0 13.0
109 | 2 301 41 501% EEERE 50.0 22.0
109 | 2 301 41 501% MEEE=TF 13.0 7.0
109 | 2 301 41 501% T B 8.0 2.0
109 | 2 301 41 5018 BEEANET 15.0 5.0
109 | 2 301 41 5018 iBE=F 28.0 18.0
109 | 2 301 42 MO ExX=TF 60.0 12.0
109 | 2 301 42 O XHR="F 30.0 6.0
109 | 2 301 42 MO NEEE= 13.0 3.0
109 | 2 301 42 O T B 8.0 2.0
109 | 2 301 42 MO BEEANET 15.0 3.0
109 | 2 302 20 fROTF T B 7.0 2.0
109 | 2 302 26 =0 BX=F 59.0 22.0
109 | 2 302 26 =0 g EAR 41.0 11.0
109 | 2 302 26 ==(O ) FEERRE 30.0 10.0
109 | 2 302 26 =05 GEESS] 7.0 2.0
109 | 2 302 26 ==(O ) EE=T 28.0 7.0
109 | 2 302 34 FEOF B ="F 60.0 15.0
109 | 2 302 34 $EOF g EEAE 41.0 13.0
109 | 2 302 34 FEOF Eunﬁa 7.0 2.0
109 | 2 302 35 RO HE=T 70.0 14.0
109 | 2 302 35 RO# AR 41.0 11.0
109 | 2 302 35 RO BRI 28.0 7.0
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109 | 2 302 36 BEOR EaE =] 7.0 2.0
109 | 2 303 01 yafel BT45E 30.0 7.0
109 | 2 303 04 HOKR BfT4SE 30.0 6.0
109 | 2 303 04 H Ok G E =] 8.0 2.0
109 | 2 303 05 ;To15 EilT45E 30.0 18.0
109 | 2 303 05 ;1015 XH=TF 26.0 18.0
109 | 2 303 13 sROME HX=F 58.0 18.0
109 | 2 303 13 SROME HE=T 71.0 15.0
109 | 2 303 13 sROME g EER 45.0 10.0
109 | 2 303 13 SROME Rl B 1E 28.0 7.0
109 | 2 303 13 sROME EilT4E 30.0 8.0
109 | 2 303 13 SROME XH=TF 26.0 6.0
109 | 2 303 13 SROME ZE R AR B 49.0 14.0
109 | 2 303 13 SROME MEEE=T 15.0 3.0
109 | 2 303 13 sROME ELES ] 8.0 2.0
109 | 2 303 13 SROME BEEEAANAET 15.0 3.0
109 | 2 303 19 BROT iR 30.0 9.0
109 | 2 303 19 BRORT ZER A SR B 49.0 11.0
109 | 2 303 20 BO&E iR 30.0 9.0
109 | 2 303 20 (IO} ZE R EA SR B 49.0 15.0
109 | 2 303 32 208 BX=F 58.0 15.0
109 | 2 303 32 208/, HE-F 71.0 17.0
109 | 2 303 32 208 AR 28.0 6.0
109 | 2 303 32 205 R AR B 49.0 13.0
109 | 2 303 35 FEO7A BT4SE 30.0 12.0
109 | 2 303 35 FEO XH=TF 26.0 10.0
109 | 2 303 36 HOE FEASE 28.0 6.0
109 | 2 303 36 HOFE G 8.0 2.0
109 | 2 303 41 Fo EEAG=] 8.0 3.0
109 | 2 304 03 JTOEe BExX=TF 57.0 16.0
109 | 2 304 03 S TOE2 BEX=TF 55.0 21.0
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HS=MEFEZ(INIL/5)RE £5/14(h) L FEHKET

109 | 2 304 03 ;TOE2 FERE 30.0 9.0
109 | 2 304 03 JTOE2 fi FR e TR 30.0 14.0
109 | 2 304 04 208 i B B3R 30.0 8.0
109 | 2 304 09 RO# B ="F 57.0 19.0
109 | 2 304 09 RO HN=F 55.0 24.0
109 | 2 304 09 RO FESEEMH 51.0 11.0
109 | 2 304 09 RO LIERR 30.0 10.0
109 | 2 304 09 Ot TamHB 7.0 2.0
109 | 2 304 09 MOtE i A zETE 30.0 9.0
109 | 2 304 11 iil{e]): B ="F 57.0 26.0
109 | 2 304 11 o] HN=F 55.0 33.0
109 | 2 304 11 o) HE=-F 75.0 40.0
109 | 2 304 11 iilfe)z7 =g E 40.0 15.0
109 | 2 304 11 o) FESE AT 51.0 25.0
109 | 2 304 11 iilfe)z7 AR 30.0 18.0
109 | 2 304 11 o) FIERER 30.0 16.0
109 | 2 304 11 iilfe)z7 ZEEERE 51.0 18.0
109 | 2 304 11 o) MEEE=TF 14.0 6.0
109 | 2 304 11 iilfe)z7 EEE =] 7.0 4.0
109 | 2 304 11 o) BEEEAANLET 14.0 6.0
109 | 2 304 11 RO EB=TF 28.0 12.0
109 | 2 304 11 iil{e])=7 R EAEIE 30.0 20.0
109 | 2 304 13 O’ BEx=TF 57.0 14.0
109 | 2 304 13 tHOR FHN=F 55.0 12.0
109 | 2 304 13 O’ HE=T 75.0 15.0
109 | 2 304 13 tHOR FESEEMH 51.0 14.0
109 | 2 304 13 O’ G A= 7.0 2.0
109 | 2 304 13 tHOR R EAEIE 30.0 7.0
109 | 2 304 14 mof AR 40.0 9.0
109 | 2 304 19 FROH B> ="F 57.0 16.0
109 | 2 304 19 PROH BEX=TF 55.0 13.0
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1092285 =EEEJNEN1/5)RE E5/14(Rh) L E# et

109 | 2 304 19 FROH HE=-F 75.0 16.0
109 | 2 304 19 FROH BEREHT 51.0 12.0
109 | 2 304 19 PEOH E S 30.0 6.0
109 | 2 304 19 PROH EERE 30.0 10.0
109 | 2 304 19 BROH EELES ] 7.0 2.0
109 | 2 304 19 PROH BE— 28.0 6.0
109 | 2 304 19 PROH R EaEIE 30.0 13.0
109 | 2 304 20 PROHA HX=F 55.0 16.0
109 | 2 304 20 BROH gE=F 75.0 18.0
109 | 2 304 20 PROHA EEEEN S 30.0 8.0
109 | 2 304 20 BROH LIER 30.0 13.0
109 | 2 304 20 PROHA i R EAEIE 30.0 13.0
109 | 2 304 21 BRONE BExX=TF 57.0 16.0
109 | 2 304 21 FRONE F=N=F 55.0 27.0
109 | 2 304 21 BRONE LIERE 30.0 17.0
109 | 2 304 21 FRONE BEEEAANLET 14.0 3.0
109 | 2 304 21 BRONE RE=T 28.0 6.0
109 | 2 304 21 FRONE i R EAEIE 30.0 18.0
109 | 2 304 24 2O B ="F 57.0 25.0
109 | 2 304 24 EO¥h =X =F 55.0 40.0
109 | 2 304 24 20 HE=T 75.0 37.0
109 | 2 304 24 =1e}i g EAR 40.0 16.0
109 | 2 304 24 20 FESEHT 51.0 26.0
109 | 2 304 24 =1e}i EEE S 30.0 21.0
109 | 2 304 24 20 FEERRE 30.0 15.0
109 | 2 304 24 =1e}i ZEEEHE 51.0 26.0
109 | 2 304 24 20 MEEE=T 14.0 5.0
109 | 2 304 24 =1e}i GEESS] 7.0 6.0
109 | 2 304 24 2Ol EIREAANET 14.0 6.0
109 | 2 304 24 20l REE=T 28.0 20.0
109 | 2 304 24 EO¥h R 30.0 21.0
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109 | 2 304 27 FEOR B> ="F 57.0 15.0
109 | 2 304 27 FEOR =N =F 55.0 12.0
109 | 2 304 27 FEOR FERE 30.0 6.0
109 | 2 304 28 FEOZE HE=T 75.0 15.0
109 | 2 304 28 FEOZE FESEM T 51.0 11.0
109 | 2 304 30 $80E =N =F 55.0 12.0
109 | 2 304 30 FEe)= LIERR 30.0 12.0
109 | 2 304 30 (o= fie BREAZEIE 30.0 13.0
109 | 2 304 31 O HN=F 55.0 13.0
109 | 2 304 31 HO%E fie BREAZEIE 30.0 8.0
109 | 2 304 32 BHOE B> ="F 57.0 12.0
109 | 2 304 32 HO% =X =F 55.0 16.0
109 | 2 304 41 STORH BEX=TF 55.0 13.0
109 | 2 304 44 O FIERER 30.0 8.0
109 | 2 304 44 O/ R EaEIE 30.0 7.0
109 | 2 305 09 ilfera G DE =] 8.0 2.0
109 | 2 305 11 HOR BExX=TF 58.0 30.0
109 | 2 305 11 HOR =X ="F 57.0 20.0
109 | 2 305 11 HOR HE=T 85.0 39.0
109 | 2 305 11 HOR )38 56.0 22.0
109 | 2 305 11 HOR etz 59.0 26.0
109 | 2 305 11 HOR EEE S 28.0 8.0
109 | 2 305 11 HOR BT4SE 30.0 20.0
109 | 2 305 11 HOR XBR="F 30.0 16.0
109 | 2 305 11 HOR BHEH T 8.0 2.0
109 | 2 305 11 HOR FERET 7.0 4.0
109 | 2 305 11 HOR MEEE=T 15.0 4.0
109 | 2 305 11 HOR At e & e 13.0 6.0
109 | 2 305 11 HOR EEAG=] 8.0 2.0
109 | 2 305 11 HOR iRE= 29.0 11.0
109 | 2 305 13 HOIE FERET 7.0 2.0
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109 | 2 305 13 foiE EaE =] 8.0 2.0
109 | 2 305 18 5RO%E BT45E 30.0 10.0
109 | 2 305 22 BROE L2 59.0 16.0
109 | 2 305 22 PROE BT45E 30.0 16.0
109 | 2 305 22 BROE a7 M & A 13.0 3.0
109 | 2 305 23 PEOSA ET45E 30.0 6.0
109 | 2 305 23 PEO3A a7 M & A 13.0 3.0
109 | 2 305 30 iz[0) B =F 58.0 22.0
109 | 2 305 30 H#HO HN=F 57.0 19.0
109 | 2 305 30 iz[0) HE=T 85.0 30.0
109 | 2 305 30 H#HO )38 56.0 22.0
109 | 2 305 30 H#HO == 59.0 25.0
109 | 2 305 30 iz[0) REBIRE 28.0 7.0
109 | 2 305 30 H#HO BEBTEE 30.0 18.0
109 | 2 305 30 iz[o) FH=TF 30.0 11.0
109 | 2 305 30 H#HO MEEE=T 15.0 4.0
109 | 2 305 30 H#HO At 7 X & A 13.0 8.0
109 | 2 305 30 H#HO RE= 29.0 6.0
109 | 2 305 34 ZOk ExX=TF 58.0 17.0
109 | 2 305 34 EROH B2 59.0 23.0
109 | 2 305 34 ZOk BT4SE 30.0 22.0
109 | 2 305 34 Ok At e N e 13.0 10.0
109 | 2 305 35 FEO= BT4SE 30.0 8.0
109 | 2 305 38 HOom Bilg4EE 30.0 10.0
109 | 2 305 38 O FERET 7.0 2.0
109 | 2 305 38 O G 8.0 2.0
109 | 2 305 39 Z0% BT4SE 30.0 15.0
109 | 2 306 03 Foiz B ="F 57.0 12.0
109 | 2 306 03 Forz etz 60.0 19.0
109 | 2 306 04 A0%E B> ="F 57.0 34.0
109 | 2 306 04 £0H BEX=TF 57.0 23.0
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109 | 2 306 04 H0HE HE=TF 87.0 43.0
109 | 2 306 04 £0H )38 56.0 19.0
109 | 2 306 04 H0HE L2 60.0 43.0
109 | 2 306 04 £0H R B 1E 27.0 7.0
109 | 2 306 04 A0E LIERR 30.0 10.0
109 | 2 306 04 £0H FERET 7.0 6.0
109 | 2 306 04 A0E MEEE=TF 15.0 5.0
109 | 2 306 04 £0H R A ER 13.0 8.0
109 | 2 306 04 A0E ELES ] 7.0 2.0
109 | 2 306 04 £0H RE=T 30.0 17.0
109 | 2 306 04 A0E R EaEIE 30.0 19.0
109 | 2 306 08 RO B =T 57.0 14.0
109 | 2 306 08 E=loL ot 60.0 18.0
109 | 2 306 08 ROHE FERE 30.0 6.0
109 | 2 306 08 E=loL FENET 7.0 2.0
109 | 2 306 08 RO MEEE=T 15.0 3.0
109 | 2 306 08 =IO At 7 X & A 13.0 4.0
109 | 2 306 08 RO fie BREAZEIE 30.0 8.0
109 | 2 306 10 F0t ExX=TF 57.0 15.0
109 | 2 306 10 Z0%h B2 60.0 22.0
109 | 2 306 10 F0t FEERRE 30.0 6.0
109 | 2 306 10 Z0th MEEE=-F 15.0 3.0
109 | 2 306 10 Z0th At 7 & & A 13.0 5.0
109 | 2 306 13 =08 BB T 6.0 2.0
109 | 2 306 14 0L etz 60.0 19.0
109 | 2 306 15 O R EAEIE 30.0 6.0
109 | 2 306 18 HoH etz 60.0 25.0
109 | 2 306 22 50 BExX=TF 57.0 14.0
109 | 2 306 22 50 BEX=TF 57.0 14.0
109 | 2 306 22 50 (=] 60.0 25.0
109 | 2 306 22 =0 BRI 27.0 6.0
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109 | 2 306 22 BHEM T 6.0 2.0
109 | 2 306 22 A ER 13.0 7.0
109 | 2 306 24 MEEE=F 15.0 3.0
109 | 2 306 24 i R B IR 30.0 6.0
109 | 2 306 28 B =TF 57.0 17.0
109 | 2 306 28 HE=T 87.0 21.0
109 | 2 306 28 ot 60.0 30.0
109 | 2 306 28 FERE 30.0 6.0
109 | 2 306 28 MEZEE=F 15.0 4.0
109 | 2 306 28 EESS=] 7.0 3.0
109 | 2 306 28 BE=T 30.0 11.0
109 | 2 306 28 i R EAEIE 30.0 12.0
109 | 2 306 34 BB T 6.0 2.0
109 | 2 306 34 At e & e 13.0 3.0
109 | 2 306 37 ExX=TF 57.0 39.0
109 | 2 306 37 BX=F 57.0 35.0
109 | 2 306 37 HE=TF 87.0 63.0
109 | 2 306 37 )38 56.0 32.0
109 | 2 306 37 ot 60.0 47.0
109 | 2 306 37 EAEEEN S 27.0 14.0
109 | 2 306 37 FEERRE 30.0 20.0
109 | 2 306 37 BB 6.0 4.0
109 | 2 306 37 SR T 7.0 5.0
109 | 2 306 37 MEEE=T 15.0 10.0
109 | 2 306 37 saE M e 13.0 10.0
109 | 2 306 37 £mEE 7.0 5.0
109 | 2 306 37 BE=T 30.0 23.0
109 | 2 306 37 i ER B3R 30.0 23.0
109 | 2 307 01 )38 58.0 15.0
109 | 2 307 01 Eilg4E 26.0 7.0
109 | 2 307 01 A e 13.0 10.0
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109 | 2 307 01 “JOF EaE =] 8.0 2.0
109 | 2 307 01 “JOF BEBE=TF 29.0 7.0
109 | 2 307 02 Fozx )38 58.0 17.0
109 | 2 307 02 Fozx == 55.0 15.0
109 | 2 307 02 Fo= BFEEEF 29.0 7.0
109 | 2 307 02 Foz ET45E 26.0 10.0
109 | 2 307 02 Fo= a7 M & A 13.0 6.0
109 | 2 307 02 Foz EBE= 29.0 9.0
109 | 2 307 11 kO a7 M & A 13.0 3.0
109 | 2 307 11 PkOZK A= 29.0 6.0
109 | 2 307 13 S ORY BExX=TF 58.0 14.0
109 | 2 307 13 S0F] =X =F 60.0 16.0
109 | 2 307 13 SORY HE=T 89.0 23.0
109 | 2 307 13 S0F] )38 58.0 17.0
109 | 2 307 13 SORY MEEE=T 15.0 4.0
109 | 2 307 13 S0F] At e & e 13.0 6.0
109 | 2 307 13 S0FR] ELES ] 8.0 2.0
109 | 2 307 15 RO 2=} 89.0 28.0
109 | 2 307 15 ROE= Y32 58.0 16.0
109 | 2 307 15 RO At e & e 13.0 7.0
109 | 2 307 15 5RO G 8.0 3.0
109 | 2 307 16 5RO At e N e 13.0 3.0
109 | 2 307 17 SROB BT4SE 26.0 10.0
109 | 2 307 17 TROBX At e & e 13.0 6.0
109 | 2 307 19 BROF BT4SE 26.0 6.0
109 | 2 307 19 PROF At e & e 13.0 3.0
109 | 2 307 21 RO BEx=TF 58.0 20.0
109 | 2 307 21 RO HX=F 60.0 19.0
109 | 2 307 21 RO HE=T 89.0 25.0
109 | 2 307 21 BROEE )38 58.0 23.0
109 | 2 307 21 PROHE etz 55.0 19.0
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109 | 2 307 21 PROE E S 29.0 12.0
109 | 2 307 21 BROEE BT45E 26.0 18.0
109 | 2 307 21 RO MEEE=TF 15.0 3.0
109 | 2 307 21 RO R A ER 13.0 10.0
109 | 2 307 21 RO iBE=T 29.0 7.0
109 | 2 307 22 PROKE B ="F 58.0 18.0
109 | 2 307 22 PROJE gE=F 89.0 21.0
109 | 2 307 22 PROYE )38 58.0 12.0
109 | 2 307 22 PROJE EilT45E 26.0 13.0
109 | 2 307 22 PROKE i M IER 13.0 11.0
109 | 2 307 22 PROJE EELES ] 8.0 2.0
109 | 2 307 29 1BOAN BENEMT 7.0 2.0
109 | 2 307 29 15O&Y MEEE=T 15.0 3.0
109 | 2 307 31 EO)E At e & e 13.0 4.0
109 | 2 307 32 2lofm iR 26.0 6.0
109 | 2 307 32 Zlofm At e & e 13.0 3.0
109 | 2 307 35 #Zloso At 7 X & A 13.0 4.0
109 | 2 307 37 ZBOE B ="F 58.0 18.0
109 | 2 307 37 ZOE BEX=TF 60.0 12.0
109 | 2 307 37 =1 @): HE=-F 89.0 27.0
109 | 2 307 37 g0E 3 58.0 18.0
109 | 2 307 37 ZBOE Bilg4EE 26.0 8.0
109 | 2 307 37 EOE MEEE= 15.0 3.0
109 | 2 307 37 ZOE At e & e 13.0 9.0
109 | 2 307 37 gOE G 8.0 5.0
109 | 2 307 38 o) At e & e 13.0 3.0
109 | 2 307 38 FFoZ G A= 8.0 2.0
109 | 2 307 39 PO HX=F 60.0 12.0
109 | 2 307 39 BRORS HE=T 89.0 30.0
109 | 2 307 39 BRORS )38 58.0 18.0
109 | 2 307 39 BRORS BRI 29.0 9.0
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109 | 2 307 39 BRORS BHEM T 7.0 3.0
109 | 2 307 39 BRORS A ER 13.0 10.0
109 | 2 307 39 BROfS EaE =] 8.0 3.0
109 | 2 307 39 PROf EBE=T 29.0 6.0
109 | 2 308 03 HOE LIERR 30.0 6.0
109 | 2 308 03 FHO®E MEEE=T 15.0 7.0
109 | 2 308 08 F0% LIERR 30.0 8.0
109 | 2 308 10 MOIE FERE 30.0 18.0
109 | 2 308 12 AofE BExX=TF 58.0 12.0
109 | 2 308 12 AOoE FERE 30.0 9.0
109 | 2 308 12 BOo#E MEEE=TF 15.0 4.0
109 | 2 308 12 Boi= £mEBE 7.0 2.0
109 | 2 308 14 HOZE LIER 30.0 18.0
109 | 2 308 14 HOZE FERET 7.0 2.0
109 | 2 308 16 HO#E LIERE 30.0 11.0
109 | 2 308 16 MO#E MEEE=T 15.0 3.0
109 | 2 308 16 HO#E ELES ] 7.0 2.0
109 | 2 308 16 MO#E fie BREAZEIE 30.0 6.0
109 | 2 308 19 mofE ExX=TF 58.0 15.0
109 | 2 308 19 ROM&E F=N=F 55.0 15.0
109 | 2 308 19 mofE etz 58.0 15.0
109 | 2 308 19 ROM&E FIERER 30.0 22.0
109 | 2 308 21 R0OE FEERRE 30.0 6.0
109 | 2 308 21 RO%E GEESS] 7.0 2.0
109 | 2 308 24 BROE 3 58.0 14.0
109 | 2 308 24 fROZ B2 58.0 12.0
109 | 2 308 24 BROE FEERRE 30.0 8.0
109 | 2 308 24 PROZ EBE=T 29.0 8.0
109 | 2 308 25 PRO FERET 7.0 2.0
109 | 2 308 27 BROFR etz 58.0 12.0
109 | 2 308 28 LOE EEAG=] 7.0 2.0
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109 | 2 308 29 =0 FERE 30.0 15.0
109 | 2 308 29 (e} MEEE=T 15.0 3.0
109 | 2 308 31 =0 B =T 58.0 12.0
109 | 2 308 31 =0 FERE 30.0 11.0
109 | 2 308 33 EOox LIERR 30.0 13.0
109 | 2 309 03 aOE ET45E 26.0 10.0
109 | 2 309 12 HOZK EilT45E 26.0 6.0
109 | 2 309 19 BXORZ B =T 59.0 12.0
109 | 2 309 19 BXOJE )38 60.0 14.0
109 | 2 309 19 BKORE == 58.0 14.0
109 | 2 309 19 BKORZ FEEEF 30.0 10.0
109 | 2 309 19 BXORZ BEBTEE 26.0 7.0
109 | 2 309 19 BKOkz At 7 N & A 13.0 3.0
109 | 2 309 29 1BOME BEBTEE 26.0 10.0
109 | 2 309 29 BOME At 7 X & A 13.0 4.0
109 | 2 309 33 o] =X =F 57.0 12.0
109 | 2 309 33 2ZOM HE=TF 87.0 19.0
109 | 2 309 33 Exde]i == 58.0 16.0
109 | 2 309 33 2O REBIRE 30.0 8.0
109 | 2 309 33 Exde]i BEBTEE 26.0 11.0
109 | 2 309 33 2ZOM SR T 6.0 2.0
109 | 2 309 33 Exd]ix R K IER 13.0 4.0
109 | 2 309 34 =={0) BT4SE 26.0 10.0
109 | 2 309 35 BOE HE=TF 87.0 20.0
109 | 2 309 35 EBOE BT4SE 26.0 6.0
109 | 2 309 35 BOE EBE=T 29.0 6.0
109 | 2 309 36 FEOM etz 58.0 12.0
109 | 2 309 36 FEOMH SRS 30.0 7.0
109 | 2 310 03 JTOFR BHEMU T 7.0 2.0
109 | 2 310 03 JTOFR At 7 M & 15.0 4.0
109 | 2 310 03 JTOFR EEAG=] 7.0 2.0
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HS=MEFEZ(INIL/5)RE £5/14(h) L FEHKET

109 | 2 310 05 a0%B B =T 59.0 20.0
109 | 2 310 05 (EI[eF:K BEX=TF 57.0 16.0
109 | 2 310 05 a0%B HE=TF 88.0 22.0
109 | 2 310 05 A OFl )38 59.0 18.0
109 | 2 310 05 faJOFB otz 56.0 27.0
109 | 2 310 05 A OF Rl B 1E 28.0 9.0
109 | 2 310 05 Il O3 LIERR 30.0 12.0
109 | 2 310 05 A OF FERET 8.0 3.0
109 | 2 310 05 falOFB a7 M & A 15.0 5.0
109 | 2 310 05 A OF G E =] 7.0 2.0
109 | 2 310 05 falOFB BEE=F 28.0 10.0
109 | 2 310 05 ] OF i R EAEIE 26.0 10.0
109 | 2 310 09 NOYS ot 56.0 12.0
109 | 2 310 09 HOR HERE 30.0 8.0
109 | 2 310 09 NOYS FENET 8.0 2.0
109 | 2 310 09 HOR £mEBE 7.0 2.0
109 | 2 310 09 MOR i R IR 26.0 8.0
109 | 2 310 12 HOE T B 7.0 4.0
109 | 2 310 14 MO EES=] 7.0 2.0
109 | 2 310 19 BOkk T B 7.0 2.0
109 | 2 310 21 ROE BEx=TF 59.0 33.0
109 | 2 310 21 ROE HX=F 57.0 30.0
109 | 2 310 21 ROE HE=T 88.0 39.0
109 | 2 310 21 ROE )38 59.0 30.0
109 | 2 310 21 ROE etz 56.0 38.0
109 | 2 310 21 ROE REERE 28.0 15.0
109 | 2 310 21 ROE FEERRE 30.0 20.0
109 | 2 310 21 ROE BENEMT 7.0 4.0
109 | 2 310 21 ROE MEEE=T 14.0 6.0
109 | 2 310 21 ROE aa g M e 15.0 8.0
109 | 2 310 21 ROE EEAG=] 7.0 6.0
LAREERE  ——HMEHNTNRAFBLHBRRE  FRSBHEVEE -




1092285 =EEEJNEN1/5)RE E5/14(Rh) L E# et

109 | 2 310 21 ROE iBE=TF 28.0 14.0
109 | 2 310 21 5ROE fie BREA IR 26.0 16.0
109 | 2 310 26 BRORE BHEM T 7.0 2.0
109 | 2 310 26 BRORE FERET 8.0 2.0
109 | 2 310 26 fRORSE a7 M & A 15.0 4.0
109 | 2 310 26 BRORE EESS=] 7.0 2.0
109 | 2 310 30 ghote iBE=T 28.0 6.0
109 | 2 310 30 ghota fie BREAZEIE 26.0 6.0
109 | 2 310 38 EHOE ELES ] 7.0 2.0
109 | 2 310 39 =0IR G E =] 7.0 2.0
109 | 2 311 05 ROE EilT4E 26.0 6.0
109 | 2 311 07 QL B ="F 59.0 14.0
109 | 2 311 07 ZO5% BEX=TF 56.0 18.0
109 | 2 311 07 QL 2=} 84.0 23.0
109 | 2 311 07 ZO5% )32 59.0 17.0
109 | 2 311 07 QL B2 58.0 17.0
109 | 2 311 07 ZO5% EH=T 30.0 6.0
109 | 2 311 07 QL4 FERET 7.0 2.0
109 | 2 311 07 ZO5% MEEE= 14.0 3.0
109 | 2 311 08 FOF B ="F 59.0 19.0
109 | 2 311 08 Z0F BX=F 56.0 18.0
109 | 2 311 08 F0F HE=-F 84.0 19.0
109 | 2 311 08 Z0F 3 59.0 18.0
109 | 2 311 08 F0F B2 58.0 14.0
109 | 2 311 08 FOF BT4SE 26.0 6.0
109 | 2 311 08 F0F XBR="F 30.0 14.0
109 | 2 311 08 FOF FERET 7.0 2.0
109 | 2 311 08 F0F At e & e 15.0 3.0
109 | 2 311 08 FOF EEAG=] 8.0 3.0
109 | 2 311 10 MO XH=T 30.0 6.0
109 | 2 311 11 MOR B =F 59.0 24.0
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109 | 2 311 11 MO HN=F 56.0 20.0
109 | 2 311 11 MO HE—F 84.0 22.0
109 | 2 311 11 MO= )38 59.0 21.0
109 | 2 311 11 MO E& 58.0 30.0
109 | 2 311 11 MO= BFEEEF 30.0 16.0
109 | 2 311 11 MO EilT4E 26.0 16.0
109 | 2 311 11 MO= FXBR=F 30.0 14.0
109 | 2 311 11 MO BICEM 8.0 5.0
109 | 2 311 11 MO= FENET 7.0 3.0
109 | 2 311 11 MO i M IER 15.0 8.0
109 | 2 311 11 MO EELES ] 8.0 4.0
109 | 2 311 11 MO iBE=F 29.0 12.0
109 | 2 311 12 oL iR 26.0 6.0
109 | 2 311 13 tHOZE B ="F 59.0 12.0
109 | 2 311 13 tHOZE BEX=TF 56.0 12.0
109 | 2 311 13 tHOZE )38 59.0 14.0
109 | 2 311 13 tHOZE EH=T 30.0 7.0
109 | 2 311 15 %#OBT Bilg4EE 26.0 9.0
109 | 2 311 15 #%o#t EH=T 30.0 10.0
109 | 2 311 16 #OH” Bilg4EE 26.0 7.0
109 | 2 311 21 FFOZS BEx=TF 59.0 30.0
109 | 2 311 21 FTO% HX=F 56.0 36.0
109 | 2 311 21 FFO%R gE=F 84.0 60.0
109 | 2 311 21 FFOZs )38 59.0 34.0
109 | 2 311 21 FFOZS etz 58.0 38.0
109 | 2 311 21 FFOZs EEE S 30.0 14.0
109 | 2 311 21 FFOZS BT4SE 26.0 19.0
109 | 2 311 21 FFOZs XBR="F 30.0 21.0
109 | 2 311 21 FFOZS BHEMU T 8.0 2.0
109 | 2 311 21 FFOZs FERET 7.0 3.0
109 | 2 311 21 FFO%R i M IER 15.0 10.0
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1092285 =EEEJNEN1/5)RE E5/14(Rh) L E# et

109 | 2 311 21 FFO% LB 8.0 4.0
109 | 2 311 21 FFO%R A= 29.0 8.0
109 | 2 311 23 BROZR ESZ=F 59.0 22.0
109 | 2 311 23 FROZR EX="F 56.0 25.0
109 | 2 311 23 BROZR )38 59.0 21.0
109 | 2 311 23 BROZR & 58.0 25.0
109 | 2 311 23 BROZR FEEEF 30.0 14.0
109 | 2 311 23 BROZR ET45E 26.0 13.0
109 | 2 311 23 BROZR FXHR=F 30.0 10.0
109 | 2 311 23 BROZR BENEMT 8.0 3.0
109 | 2 311 23 BROZR FENET 7.0 3.0
109 | 2 311 23 FROZR MEEE=TF 14.0 6.0
109 | 2 311 23 BROR At 7 N & A 15.0 5.0
109 | 2 311 23 FROZR T B 8.0 2.0
109 | 2 311 23 BROZR RE=T 29.0 9.0
109 | 2 311 27 WO B ="F 59.0 32.0
109 | 2 311 27 MO HX=F 56.0 37.0
109 | 2 311 27 WO 2=} 84.0 50.0
109 | 2 311 27 ek Y32 59.0 31.0
109 | 2 311 27 WO B2 58.0 32.0
109 | 2 311 27 ek AR 30.0 17.0
109 | 2 311 27 HO%T Bilg4EE 26.0 17.0
109 | 2 311 27 ek EH=T 30.0 16.0
109 | 2 311 27 piidek= BENEMT 8.0 3.0
109 | 2 311 27 ek FERET 7.0 4.0
109 | 2 311 27 MO MEEE=-TF 14.0 8.0
109 | 2 311 27 pirek= At 7 M & A 15.0 8.0
109 | 2 311 27 HO%T GEESS] 8.0 4.0
109 | 2 311 27 ek EE=T 29.0 15.0
109 | 2 311 28 =(0)12 G 8.0 2.0
109 | 2 311 29 =01E B =F 59.0 21.0

WHRBEZRE  ——HZNTNIRARLCERRE -

wA (e

B

=

BULER -




1092285 =EEEJNEN1/5)RE E5/14(Rh) L E# et

109 | 2 311 29 =0F BEX=TF 56.0 30.0
109 | 2 311 29 =01E HE=T 84.0 31.0
109 | 2 311 29 =01% )38 59.0 17.0
109 | 2 311 29 =OfE E& 58.0 16.0
109 | 2 311 29 =O01E BFEEEF 30.0 9.0
109 | 2 311 29 =0F ET45E 26.0 10.0
109 | 2 311 29 =0fF FXBR=F 30.0 12.0
109 | 2 311 29 =O01% FERET 7.0 3.0
109 | 2 311 29 =0fF MEEE=TF 14.0 3.0
109 | 2 311 29 =O01% i M IER 15.0 5.0
109 | 2 311 29 {03 EELES ] 8.0 3.0
109 | 2 311 29 =0F EBE=TF 29.0 6.0
109 | 2 311 31 20%L iR 26.0 7.0
109 | 2 311 32 B O B ="F 59.0 19.0
109 | 2 311 32 BO#) BEX=TF 56.0 24.0
109 | 2 311 32 B O 2=} 84.0 20.0
109 | 2 311 32 BEO) )32 59.0 17.0
109 | 2 311 32 BOH) B2 58.0 17.0
109 | 2 311 32 BOH) BFEEEF 30.0 8.0
109 | 2 311 32 B O Bilg4EE 26.0 7.0
109 | 2 311 32 BEO) EH=T 30.0 14.0
109 | 2 311 32 BEO) BB T 8.0 3.0
109 | 2 311 32 BEO) FERET 7.0 4.0
109 | 2 311 32 B O MEEE=-TF 14.0 3.0
109 | 2 311 32 BOg) At 7 & & A 15.0 6.0
109 | 2 311 32 BOH GELEIY= 8.0 2.0
109 | 2 311 32 BEO#) EE=T 29.0 11.0
109 | 2 311 33 ZloFk BEBATEE 26.0 6.0
109 | 2 311 37 #EOE BT4SE 26.0 6.0
109 | 2 311 37 EOE EBE=T 29.0 7.0
109 | 2 312 01 TLOR )38 60.0 12.0
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109 | 2 312 01 TOIR At 2 M & A 13.0 3.0
109 | 2 312 01 TLOR i R EA IR 30.0 6.0
109 | 2 312 10 08t )38 60.0 12.0
109 | 2 312 11 FO%% M IER 13.0 4.0
109 | 2 312 15 MOLE )38 60.0 19.0
109 | 2 312 15 MO i M IER 13.0 4.0
109 | 2 312 16 ek B> ="F 57.0 18.0
109 | 2 312 16 "o#% HE-F 85.0 25.0
109 | 2 312 16 MO )38 60.0 30.0
109 | 2 312 16 "o#% i M IER 13.0 5.0
109 | 2 312 16 ek EELES ] 7.0 2.0
109 | 2 312 19 HOh B ="F 57.0 19.0
109 | 2 312 19 ot )32 60.0 26.0
109 | 2 312 19 HOh MEEE=TF 15.0 4.0
109 | 2 312 19 HOtH R EaEIE 30.0 10.0
109 | 2 312 22 5ROTT T B 7.0 2.0
109 | 2 312 23 EOE )32 60.0 14.0
109 | 2 312 23 HEOw At e & e 13.0 3.0
109 | 2 312 24 FFO¥% s M e 13.0 4.0
109 | 2 312 24 O T B 7.0 2.0
109 | 2 312 24 T Ol R EAETE 30.0 6.0
109 | 2 312 38 8oL B> ="F 57.0 15.0
109 | 2 312 38 B0 %L HE=T 85.0 25.0
109 | 2 312 38 2O %t )38 60.0 18.0
109 | 2 312 38 fEOLE At 7 & & A 13.0 5.0
109 | 2 312 38 2O %t fi BREAZEIE 30.0 9.0
109 | 2 312 39 BROE BEx=TF 57.0 15.0
109 | 2 312 39 PRORR HE=-F 85.0 20.0
109 | 2 312 39 BROE )38 60.0 23.0
109 | 2 312 39 PROGE At 7 M & 13.0 5.0
109 | 2 313 08 JTOE EEAG=] 7.0 2.0
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109 | 2 313 15 Ner= B> ="F 58.0 17.0
109 | 2 313 15 HO&E BT45E 30.0 6.0
109 | 2 313 15 Mmooz XBR=F 30.0 16.0
109 | 2 313 15 HO&E FERET 7.0 2.0
109 | 2 313 15 ey MEEE=TF 13.0 3.0
109 | 2 313 17 HOE MEEE=T 13.0 3.0
109 | 2 313 18 FHOlE )38 56.0 22.0
109 | 2 313 18 FOllE == 59.0 26.0
109 | 2 313 18 BOllE EilT45E 30.0 8.0
109 | 2 313 18 FOllE KEH=F 30.0 13.0
109 | 2 313 18 BOllE BEM T 6.0 3.0
109 | 2 313 18 HOllE FERE T 7.0 5.0
109 | 2 313 18 FOlE RE=T 29.0 10.0
109 | 2 313 35 =0lg XH=TF 30.0 6.0
109 | 2 314 06 0% ESZ=F 57.0 15.0
109 | 2 314 06 0% =X =F 57.0 19.0
109 | 2 314 06 0% )32 60.0 17.0
109 | 2 314 06 0% EAEEEN S 13.0 6.0
109 | 2 314 06 0% EEE=T 15.0 3.0
109 | 2 314 06 0% T B 6.0 4.0
109 | 2 314 14 BROFK B ="F 57.0 14.0
109 | 2 314 14 BEOX )38 60.0 16.0
109 | 2 315 02 =lol] BEX=TF 59.0 17.0
109 | 2 315 02 =015 B2 57.0 15.0
109 | 2 315 11 5RO BT4SE 30.0 6.0
109 | 2 315 22 FOZE BEBATEE 30.0 8.0
109 | 2 315 24 =058 EM=F 59.0 13.0
109 | 2 315 32 2o HE=TF 69.0 14.0
109 | 2 315 32 2o etz 57.0 14.0
109 | 2 315 32 ZloR £="F 59.0 13.0
109 | 2 315 35 2205 BEX=TF 59.0 14.0
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1092285 =EEEJNEN1/5)RE E5/14(Rh) L E# et

109 | 2 315 35 205 )38 58.0 12.0
109 | 2 315 35 2205 BT45E 30.0 6.0
109 | 2 315 35 205 iBE=F 28.0 8.0
109 | 2 315 37 #HOE B =T 59.0 17.0
109 | 2 315 37 Eile} HN=F 59.0 20.0
109 | 2 315 37 #0155 ET45E 30.0 8.0
109 | 2 315 41 ol BEx=TF 59.0 42.0
109 | 2 315 41 ol BY=TF 59.0 43.0
109 | 2 315 41 01T HE=TF 69.0 51.0
109 | 2 315 41 =01 )38 58.0 44.0
109 | 2 315 41 = okil) ot 57.0 42.0
109 | 2 315 41 F0o1m £="F 59.0 44.0
109 | 2 315 41 = okil) BFEEEF 15.0 12.0
109 | 2 315 41 F0o1m Bilg4EE 30.0 24.0
109 | 2 315 41 = okil) FXHR=TF 26.0 20.0
109 | 2 315 41 F0o1 MEEE=TF 15.0 11.0
109 | 2 315 41 = okil) ELES ] 8.0 6.0
109 | 2 315 41 F0oMm iBE=F 28.0 21.0
109 | 2 316 15 INOE < ExX=TF 57.0 16.0
109 | 2 316 15 HO%& =X =F 60.0 20.0
109 | 2 316 15 NOE 3 58.0 16.0
109 | 2 316 15 HO% B2 57.0 19.0
109 | 2 316 15 INOE < FEERRE 30.0 9.0
109 | 2 316 15 HO% MEEE=-TF 13.0 4.0
109 | 2 316 15 NOE G 7.0 2.0
109 | 2 316 15 HO% R EAEIE 29.0 7.0
109 | 2 316 19 503 FEASE 15.0 3.0
109 | 2 316 19 50%] GEESS] 7.0 2.0
109 | 2 316 21 o= MEEE=T 13.0 3.0
109 | 2 317 07 FO%K Eilg4E 28.0 11.0
109 | 2 317 21 RO BT4SE 28.0 11.0
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1092285 =EEEJNEN1/5)RE E5/14(Rh) L E# et

109 | 2 317 26 =012 otz 60.0 15.0
109 | 2 317 31 HOZS Bili4EE 28.0 8.0
109 | 2 317 33 B}t B> ="F 58.0 40.0
109 | 2 317 33 208 BX=TF 57.0 35.0
109 | 2 317 33 2O gE=F 72.0 44.0
109 | 2 317 33 2048 )38 60.0 37.0
109 | 2 317 33 204 ot 60.0 39.0
109 | 2 317 33 2048 EM=F 59.0 35.0
109 | 2 317 33 204 EE e 14.0 6.0
109 | 2 317 33 208 ET45E 28.0 12.0
109 | 2 317 33 204 FXHR=F 26.0 15.0
109 | 2 317 33 2048 MEEE=TF 13.0 7.0
109 | 2 317 33 204 ELES =] 8.0 4.0
109 | 2 317 33 2048 iBE— 28.0 19.0
109 | 2 317 37 $80O® HE=F 72.0 17.0
109 | 2 317 37 $80® B2 60.0 21.0
109 | 2 317 37 $80O® £M="F 59.0 12.0
109 | 2 317 37 $80MH EAEEEN S 14.0 3.0
109 | 2 317 37 $8O®H iR 28.0 11.0
109 | 2 317 37 $80® iBE=F 28.0 12.0
109 | 2 317 41 =0 HE=T 72.0 15.0
109 | 2 317 41 =07 B2 60.0 22.0
109 | 2 317 41 =07 EE=T 28.0 7.0
109 | 2 318 02 FoA )38 60.0 13.0
109 | 2 318 02 FoA FEERRE 26.0 15.0
109 | 2 318 02 FoA i ER B3R 30.0 11.0
109 | 2 318 03 FOit FEERRE 26.0 10.0
109 | 2 318 03 FOit fi BREAZEIE 30.0 8.0
109 | 2 318 04 fa]OzE EERE 26.0 12.0
109 | 2 318 07 =[O EERE 26.0 11.0
109 | 2 318 07 =IO} i BREA TR IE 30.0 16.0
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HS=MEFEZ(INIL/5)RE £5/14(h) L FEHKET

109 | 2 318 09 "oz HE=-F 75.0 17.0
109 | 2 318 09 INOE )38 60.0 17.0
109 | 2 318 09 "oz FERER 26.0 17.0
109 | 2 318 09 HOoZ MEEE=-F 14.0 3.0
109 | 2 318 09 NOE= =l 29.0 7.0
109 | 2 318 09 NOE i ER B3R 30.0 11.0
109 | 2 318 10 HOF )38 60.0 16.0
109 | 2 318 10 MOF Rl B 1E 15.0 3.0
109 | 2 318 10 HOF LIERR 26.0 16.0
109 | 2 318 10 MOF fi2 FR e TR 30.0 15.0
109 | 2 318 15 ZOff LIER 26.0 11.0
109 | 2 318 24 RO FERE 26.0 6.0
109 | 2 318 24 BROZ= R EaEIR 30.0 7.0
109 | 2 318 25 PROZ= i R EAEIE 30.0 6.0
109 | 2 318 26 BROF LIERE 26.0 6.0
109 | 2 318 26 RO fi BREAZEIE 30.0 6.0
109 | 2 318 27 BRO#: REBIRE 15.0 3.0
109 | 2 318 27 BRO%2 i R EAEIE 30.0 6.0
109 | 2 318 28 ZOofE LIER 26.0 13.0
109 | 2 318 28 ZOf’ fie BREAZEIE 30.0 9.0
109 | 2 318 30 EZ0X G 7.0 2.0
109 | 2 318 31 %0 )18 60.0 18.0
109 | 2 318 31 %0 EM=F 55.0 11.0
109 | 2 318 31 %0 EERE 26.0 18.0
109 | 2 318 31 %0 MEEE=T 14.0 3.0
109 | 2 318 31 %0 EBE=T 29.0 9.0
109 | 2 318 31 %0 i FR B TE 30.0 18.0
109 | 2 318 32 EOE FERRE 26.0 6.0
109 | 2 318 32 EOoiE EEAG=] 7.0 2.0
109 | 2 318 32 EOEE 2 ERlETE 30.0 8.0
109 | 2 318 33 0 BRI 15.0 3.0
LAREERE  ——HMEHNTNRAFBLHBRRE  FRSBHEVEE -




1092285 =EEEJNEN1/5)RE E5/14(Rh) L E# et

109 | 2 318 33 %0 EaE =] 7.0 2.0
109 | 2 319 02 ROE EH=T 30.0 8.0
109 | 2 319 03 204k SEAZEE=A(S 15.0 3.0
109 | 2 319 05 E=leli5 G E =] 7.0 2.0
109 | 2 319 06 %0 BFEEEF 15.0 3.0
109 | 2 319 18 Z20Jk G E =] 7.0 2.0
109 | 2 319 21 FFOZ5 FEEEF 15.0 4.0
109 | 2 319 21 OB G E =] 7.0 5.0
109 | 2 319 23 FROLE ELES ] 7.0 2.0
109 | 2 319 25 PROES ET45E 30.0 6.0
109 | 2 319 27 BROTT EELES ] 7.0 2.0
109 | 2 319 32 1BOLE T B 7.0 2.0
109 | 2 319 33 >1e)1 BExX=TF 58.0 14.0
109 | 2 319 40 grolg T B 7.0 2.0
109 | 2 320 03 o ELES ] 6.0 3.0
109 | 2 320 09 SBOfE G DE =] 6.0 2.0
109 | 2 320 10 RO BEX=TF 60.0 15.0
109 | 2 320 10 ROBr G EN =] 6.0 5.0
109 | 2 320 14 TRO%K ELES =] 6.0 2.0
109 | 2 320 23 =03 BEX=TF 60.0 12.0
109 | 2 320 23 =03 FEERRE 30.0 6.0
109 | 2 320 23 =07 EE =] 6.0 2.0
109 | 2 320 33 ZO#h G 6.0 2.0
109 | 2 320 35 ZLORR G 6.0 3.0
109 | 2 320 39 #FO1S G 6.0 3.0
109 | 2 321 20 fROZ= B ="F 58.0 15.0
109 | 2 321 20 RO HE=T 71.0 22.0
109 | 2 321 20 fROZ= £="F 58.0 12.0
109 | 2 321 20 BROZ= BT4SE 30.0 7.0
109 | 2 321 20 BROZ= XH=T 30.0 6.0
109 | 2 321 20 BROZ= EEEE= 13.0 5.0

WHRBEZRE  ——HZNTNIRARLCERRE -

AEBHELEERE -




1092285 =EEEJNEN1/5)RE E5/14(Rh) L E# et

109 | 2 321 20 PROZ EaE =] 7.0 3.0
109 | 2 321 37 HOME B =F 58.0 12.0
109 | 2 321 37 HOE MEEE=TF 13.0 3.0
109 | 2 321 37 H O TamHB 7.0 2.0
109 | 2 322 06 HiORR BEx=TF 58.0 22.0
109 | 2 322 06 HiOFx EX="F 57.0 17.0
109 | 2 322 06 [fOFR gE=F 74.0 23.0
109 | 2 322 06 fORx )38 59.0 16.0
109 | 2 322 06 HORx ot 58.0 24.0
109 | 2 322 06 i@} MEEE=-F 15.0 3.0
109 | 2 322 06 HORx a7 M & A 15.0 6.0
109 | 2 322 06 HiOFR iBE— 29.0 8.0
109 | 2 322 06 HORx R EaEIR 26.0 11.0
109 | 2 322 07 Z=0%h MEEE=TF 15.0 3.0
109 | 2 322 08 SRO% At 7 X & A 15.0 3.0
109 | 2 322 10 PROfE i R EAEIE 26.0 8.0
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